(RN
<

g g
= 3
o S
® e °
1
107 it
.910—3: L ! ! ......! Lt .910—‘%_ L ....! —.=F N .! L ......! L inn
s 15F = F |
@ o a4 1_—. ,.";:"
1= E d
0.5F- osf-HF
10* 1 1 2 10 10 1 1 2 10
0 TP p())T (PCA t%obeamllnef) 0 TP FS)T (PCA t%obeamllnef)
[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
- = 1
IS IS
S A
> 5
S 3
o [s]
107"
01034t 01072
g : *r g 1-_-
=1 :
05F- 0.5F-
10 1 10 0 . 10° 10* 1 10 0 . 10°
TPp, (PCA t%) beamling TPp, (PCA t%) beamling
n=
o
s
o
2
©

1072
15

10

Rat

iy
TTTTTI T TTTT

o
h
=

1 10

: 2 3
TP, (PCA t%obeamlin%)o



	Contents
	Page 1


